
     
 

 

 

      

     

  

 

 

 

 

 

 

          

   

  

          

         

                

    [ ]     

2   Attempt process for finding both values  

 
M1 1.1a E e.g. squaring both sides to obtain 3 

terms on both sides 

 2 24 4 1 6 9x x x x       

Or consider two 

linear equations 

   2 1 3x x      

   23 10 8( 0)x x     A1 1.1 E   1 correct solution 

for A1 

   
Obtain 4 and 

2

3
  

A1 1.1 E BC SC one correct 

solution from one 

linear equation B1 

    [3]     

         

              

     
 

               

   

 

                

              

    
   

                      

          

     

 

 

 

 

    


